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5 53,362 A(-54)
s 57,149 A (-21)
HE 42,0061t8(+58)
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i1 AQ 18R S1% 18R it R | HEES | 8
JR\E=H] 442 -1 201 1 241 -2 192 0
ELH] 229 0 100 1 129 -1 92 0
E=H] 153 -1 69 -1 84 0 68 0
KEH] 48 0 13 0 35 0 26 0
INEL] 9 0 2 0 7 0 4 0
=] 88 -1 36 -2 52 1 21 -1
SRea H] 63 -1 11 -1 52 0 15 0
iR el 539 -2 260 0 279 -2 303 -3
FEH] 32 0 18 0 14 0 15 0
1 H] 224 3 90 -2 134 5 87 3
= =] 73 0 35 0 38 0 32 0
] 224 -5 102 -3 122 -2 103 -1
ZH] 131 -5 58 -3 73 -2 64 -2
e SHT 554 -3 287 0 267 -3 266 -1
] 69 -3 33 -2 36 -1 35 -1
15RaH] 18 0 11 0 7 0 6 0
FASEH] 148 3 72 3 76 0 85 3
—&T 0 0 0 0 0 0 0 0
NET 105 -1 50 -1 55 0 50 0
T&ET 149 0 72 0 77 0 53 0
JI\&ET 80 1 37 0 43 1 36 -1
NET 262 4 111 3 151 1 86 1
+&ET 234 -5 101 -3 133 -2 117 -1
b geakil] 386 -6 163 -3 223 -3 199 0
ST 2,604 7| 1,257 15( 1,347 -8 1,024 21
R FRE] 3,495 5( 1,638 1 1,857 4 1,330 7
EEH] 1,490 7 718 7 772 0 498 4
FRiR ] 1,868 9 932 9 936 0 739 7
FERHE] 517 0 237 -1 280 1 227 1
FHATH] 3,507 -26| 1,773 -23| 1,734 -3 1,506 -21
LLIAEHT 2,197 -6 1,090 -1 1,107 -5 855 -7




VEIRH] 1,995 11 1,004 4 991 7 511 6
Ll e 4,785 -34| 2,332 -26| 2,453 -8 1,718 -6
MEigEs] 2,093 -9 1,045 -5| 1,048 -4 786 5
EBZRHE] 9,376 -6| 4,566 -6| 4,810 0| 3,396 -4
=2kH] 3,538 -4 1,727 -1 1,811 -3 1,319 7
[ EHET 982 3 481 -2 501 5 394 7
EREFHIER — 2,457 12| 1,168 7| 1,289 5 808 7
EREFHTERS) 1,792 1 868 0 924 1 626 10
EREFHT PG 7> 543 1 268 1 275 0 193 -2
Er7KH] 5,634 -13| 2,674 -1 2,960 -12| 1,825 4
g lii) 131 3 119 1 12 2 116 1
ERH] 61 0 35 0 26 0 37 0
ETRE—TH 437 -2 224 0 213 -2 190 0
ETREIZTH 303 -5 135 -1 168 -4 141 0
ETREI=TH 1 -2 1 -2 0 0 1 -2
ETREMTH 0 0 0 0 0 0 0 0
ETREATH 238 -6 113 -1 125 -5 73 -2
rES 0 0 0 0 0 0 0 0
TEE—TH 461 -4 200 -1 261 -3 203 -2
TEEZTH 776 0 363 5 413 -5 353 0
TEE=TH 310 -4 146 -4 164 0 145 2
WERAT—TH 489 -4 222 -2 267 -2 219 -2
RERE—TH 751 -5 366 -6 385 1 338 -3
EE=TH 460 -12 234 -9 226 -3 217 -4
EMPRET—T B 334 0 145 0 189 0 148 0
Gl = 555 1 259 0 296 1 252 2
JtFEILE—TH 183 1 77 1 106 0 82 0
JtFEILETZTH 443 5 203 3 240 2 192 3
AR —TH 338 3 181 3 157 0 148 0
AR —TH 504 17 244 5 260 12 246 9
FEH—TH 119 0 51 0 68 0 49 -1
FZHZTH 336 12 137 4 199 8 149 3
[REEIH 349 5 164 3 185 2 206 3
wFEE—TH 130 0 59 0 71 0 63 -1
RFEE =T H 298 -6 119 -3 179 -3 129 0
RAEI—TH 476 -2 217 0 259 -2 179 0
FREIZTH 321 -3 147 1 174 -4 138 0
RREI=TH 509 4 239 3 270 1 235 4
FRAFETI T H 352 -8 159 -2 193 -6 150 -2
FRETRTH 590 -1 256 2 334 -3 222 -2
¥FrEE—TH 243 -4 125 -2 118 -2 115 -1
FUEEI”TH 363 -3 192 -2 171 -1 181 -1
HIIEEE—TH 484 2 219 1 265 1 230 2




HIGEAI”TH 327 0 150 0 177 0 129 1
BRE—TH 139 0 62 0 77 0 72 0
BRI "TH 680 -2 306 -1 374 -1 299 -2
BRE=TH 581 0 279 0 302 0 232 -1
BEEMTH 243 2 116 2 127 0 101 1
EEEATH 732 7 337 -1 395 8 351 7
Kt —TH 284 13 133 3 151 10 102 2
XK —TH 222 3 109 -1 113 4 88 1
AFH—TH 132 -1 58 0 74 -1 59 -1
AFHZTH 7 -1 4 0 3 -1 4 -1
AFH=TH 212 -5 112 2 100 -7 94 -10
TEEIA—TH 621 0 295 1 326 -1 222 -2
TEsETFE T H 289 -3 134 -2 155 -1 107 0
TEEAR=TH 155 6 83 2 72 4 65 1
TEEIFEM T B 472 1 228 -1 244 2 183 0
TEEAATH 664 -9 320 -4 344 -5 242 -4
TEEIPRNT B 417 -17 187 -8 230 -9 170 -7
TEsETFEE T H 592 -6 280 -5 312 -1 265 0
TEEIFEA\TH 654 2 314 1 340 1 265 1
TERER—TH 1,335 4 644 5 691 -1 559 2
THREERTTH 405 3 201 4 204 -1 159 -1
TEREIR=TH 708 -8 355 -2 353 -6 295 -2
TARETERMT B 1,133 -16 545 -17 588 1 450 -4
TAHREERATH 1,160 14 690 8 470 6 628 3
T2REERANT B 653 -18 344 -16 309 -2 320 -10
TEZRERETH 1,471 31 719 17 752 14 587 8
TERETERNTH 1,389 8 657 3 732 5 612 6
TEREIRAT B 549 -8 280 -4 269 -4 106 -4
TEEIE—TH 74 0 43 0 31 0 53 1
TEEIEZTH 52 6 34 1 18 5 44 4
4N &t 80,830 -77| 39,080 -51| 41,750 -26( 31,720 37
AEH]E 146 -7 59 -2 87 -5 79 -3
AEHTA 137 2 70 1 67 1 66 0
AEHTRE 14 0 4 0 10 0 10 0
AREHT/NBR 139 1 61 1 78 0 64 0
AEHKH 13 0 5 0 8 0 9 0
AEHTEH 80 1 32 1 48 0 40 1
AEH R 14 0 7 0 7 0 7 0
AEHE /R 9 2 2 1 7 1 6 1
45 17 0 8 0 9 0 11 0
AEMXEEST 569 -1 248 2 321 -3 292 =1l
IN= 1 AVES] 39 0 21 0 18 0 25 0
IN= 1RO 50 0 24 0 26 0 31 0




IN= I E0) 39 -2 17 -1 22 -1 24 -1
[1: SHTER S 41 0 21 0 20 0 27 0
[LERTEAR 74 -1 37 0 37 -1 40 -1
[LSHEHH 34 0 14 0 20 0 19 0
NG9 39 0 24 0 15 0 19 0
[LEE/NFS 49 -2 28 0 21 -2 22 -1
FEH] 45 0 23 0 22 0 31 0
[ S EEET 410 -5 209 -1 201 -4 238 -3
SUEERSET 979 -6 457 1 522 -7 530 -4
e X T ] 1,435 -6 672 -4 763 -2 497 1
T2 X T ] EH 785 5 336 3 449 2 250 -1
&R R 1,300 1 623 1 677 0 433 2
e 2K T iz E P 1,121 -2 546 1 575 -3 370 0
e 1,464 0 690 0 774 0 455 0
e 1,179 3 561 3 618 0 419 3
TN ] = AR 3,991 9 1,911 3| 2,080 6| 1,312 6
TR X ERET 11,275 10| 5,339 7| 5,936 3| 3,736 11
ERILIET_ESREESF 2,006 -6 950 -5| 1,056 -1 624 1
ERILIE] RSB 2,588 -17] 1,286 -9 1,302 -8 848 -3
ERILIETER/)N I 2,112 1] 1,044 -2| 1,068 3 778 1
BRI BT PaR T 1,525 13 759 3 766 10 513 7
BRI LI BT iF 1,057 14 504 10 553 4 356 5
ERLLIET) 1R 2,330 10 1,148 3| 1,182 7 793 3
ERILIE] R T 5,809 -17| 2,795 -11| 3,014 -6| 2,108 0
BRI [X &R 5T 17,427 -2| 8,486 -11| 8,941 9] 6,020 14
=) 5t 110,511 -75| 53,362 -54| 57,149 -21] 42,006 58




